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QUESTION 1

You have a single node Cloud Volumes ONTAP (CVO) system in AWS. 

In this scenario, which two activities will cause system downtime? (Choose two.) 

A. Change the disk type of a volume from HDD (st1) to SSD (gp2). 

B. Change the Cloud Volumes ONTAP EC2 instance type. 

C. Upgrade the Cloud Volumes ONTAP system software. 

D. Apply a new Cloud Volumes ONTAP license. 

Correct Answer: CD 

 

QUESTION 2

What are two stages in the DevOps lifecycle? (Choose two.) 

A. plan 

B. architect 

C. operate 

D. destroy 

Correct Answer: CD 

 

QUESTION 3

Click the Exhibit button. 

You are using NetApp Cloud Manager to set up replication, as shown in the exhibit. Which two replication policies are
supported in this scenario? (Choose two.) 

A. Mirror 

B. Tier 

Latest NS0-403 Dumps | NS0-403 PDF Dumps | NS0-403 Braindumps                                2 / 3

https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html


https://www.geekcert.com/ns0-403.html
2024 Latest geekcert NS0-403 PDF and VCE dumps Download

C. Clone 

D. Backup 

Correct Answer: AD 

 

QUESTION 4

A team Is Implementing automated builds of Dev/Test environments. The team must ensure consistent and repeatable
environments. 

In this scenario, which two actions will satisfy this requirement? (Choose two.) 

A. Ensure that build scripts log to the same output file. 

B. Use variables in build scripts to identify environments. 

C. Use infrastructure as code to build the environments. 

D. Ensure that a service desk ticket is automatically logged when an environment is built. 

Correct Answer: AC 

 

QUESTION 5

You want to manage your applications using NetApp Astra Control within your Azure account. Which two actions must
be completed before accomplishing this task? (Choose two.) 

A. Manually provision Azure Blob storage 

B. Delegate a subnet to Azure NetApp Files. 

C. Set up a capacity pool. 

D. Export your Azure AD Administrator key and import it into Astra Control. 

Correct Answer: BD 
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